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40 ∙ 503

36
+

40 ∙ 50

2
∙ (22,22 −

50

3
)

2

𝐼𝑧 ∙ 106 𝑚𝑚4



 

 

𝐼𝑧𝑦 = 50 ∙ 40 ∙ (20 − 31,11) ∙ (25 − 22,22) −
402∙502

72
+

50∙40

2
∙ (40 +

40

3
∙ (

50

3
− 22,22)

𝐼𝑧𝑦 = −0,241 ∙ 106𝑚𝑚4

𝐼𝑚𝑎𝑥,𝑚𝑖𝑛 =
𝐼𝑦 + 𝐼𝑧

2
±

1

2
√(𝐼𝑦 − 𝐼𝑧)

2
+ 4𝐼𝑦𝑧

2

→

𝜑

𝐼𝑚𝑎𝑥 = 1,194 ∙ 106𝑚𝑚4 = 𝐼𝑢

𝐼𝑚𝑖𝑛 = 0,504 ∙ 106𝑚𝑚4 = 𝐼𝑣

𝑡𝑔2𝜑 = −
2𝐼𝑦𝑧

𝐼𝑦−𝐼𝑧
= 0,976→ 𝜑 = 22°09′

𝑖𝑢
2 =

𝐼𝑢

𝐴
= 398 𝑚𝑚2

𝑖𝑣
2 =

𝐼𝑣

𝐴
= 168 𝑚𝑚2

→

𝑒𝑦 = 22,22 𝑚𝑚

𝑒𝑧 = 31,11 𝑚𝑚

𝑒 = √𝑒𝑦
2 + 𝑒𝑧

2 = 38,23 𝑚𝑚

 



 

 

𝑦𝑇 𝑧𝑇 𝑢𝑇 𝑣𝑇 𝑎𝑢 𝑎𝑣

𝑎𝑢𝑖 = −
𝑖𝑣

2

𝑢𝑇𝑖
𝑎𝑣𝑖 = −

𝑖𝑢
2

𝑣𝑇𝑖

 

𝑘𝐴 = 5,25 𝑚𝑚; 𝑘2 = 6,92 𝑚𝑚

𝜎2 = −
𝐹

𝐴
∙ (1 −

𝑒

𝑘2
)

𝜎𝐴 = −
𝐹

𝐴
∙ (1 +

𝑒

𝑘𝐴
)
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